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Xmttynsl$Htskjijwfynts$tk$ymj$Frjwnhfx

HTSXYNYZYNTS

FSI

LJSJWFQ$WJLZQFYNTSX

HTSXYNYZYNTS

TK$YMJ

HTSKJIJWFHNTS$FRJWNHFSF$IJ$YNWT

Ymj$ Htskjijwfhnts$ Frjwnhfsf$ ij$ Ynwt$ |fx$ ktzsiji$ Fuwnq$ 80$ 5><7$

ns$ Rî}nht$ Hny~2$ Ymj$ xmtwy$ ktwr$ ynyqj$ tk$ ymj$ Htskjijwfynts$ nx$ �HFY�2$

Ymj$ Nsyjwsfyntsfq$ Xmttynsl$ Xutwy$ Kjijwfynts$ ,NXXK-$ wjhtlsn�jx$ ymj$

Htskjijwfynts$fx$ymj$htsynsjsyfq$htskjijwfynts$ktw$ymj$xutwy$tk$xmttynsl$

ktw$fqq$htzsywnjx$tk$ymj$Frjwnhfs$Htsynsjsy2$Ymj$Ufs$Frjwnhfs$Xutwyx$

Twlfsn�fynts$ ,UFSFR$ XUTWYX-$ wjhtlsn�jx$ ymj$ Htskjijwfynts$ fx$ ymj$

htsynsjsyfq$ xutwyx$ kjijwfynts$wjxutsxngqj$ ktw$ ymj$ yjhmsnhfq$ htsywtq$tk$

xmttynsl$ns$ymj$Ufs$Frjwnhfs$Lfrjx2

52$ Uzwutxjx

525$ Yt$uwtrtyj$ymj$ij{jqturjsy$tk$fqq$inxhnuqnsjx$tk$

ymj$xmttynsl$xutwyx$ns$fqq$htzsywnjx$ns$ymj$Frjwnhfx0$

|nymtzy$inxhwnrnsfynts$tk$jymsnh0$utqnynhfq0$ wfhnfq$

tw$wjqnlntzx$lwtzsix2$
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526$ Yt$ij{jqtu$kwnjsiq~$wjqfyntsx$frtsl$ymj$fymqjyjx0$

JH7@D<HIY AK;><I 7D; E=h@9@7BI E= J?< I?EEJ@D>

kjijwfyntsx$ tk$ ymj$ Frjwnhfs$ htsynsjsy$ ymwtzlm$

xutwynsl$fhyn{nynjx$fsi$htrujynyntsx2

527$ Yt$ jshtzwflj$ fsi$ xutsxtw$ ymj$ twlfsn�fynts$

tk$ htrujynyntsx$ fsi$ wjlntsfq$ hmfruntsxmnux$

htsizhyji$fhhtwinsl$yt$ymj$wjlzqfyntsx$tk$ymj$NXXK$

fsi$HFY2

528$ Yt$ twlfsn�j$ ymj$ Xmttynsl$ Hmfruntsxmnu$ tk$ ymj$

Frjwnhfx$ j{jw~$ ktzwym$ ~jfw0$ $ yt$ gj$ htsizhyji$

fhhtwinsl$yt$ymj$wjlzqfyntsx$tk$ymj$NXXK$fsi$HFY2$

529$ Yt$uwt{nij$yjhmsnhfq$htsywtq$tk$ymj$xmttynsl$j{jsyx$

ns$ymj$Ufs$Frjwnhfs$Lfrjx2

52;$ Yt$ hwjfyj$ fsi$ uwjxjsy$ f|fwix$ tk$ inxynshynts$ yt$

fymqjyjx$fsi$ymtxj$|mt$|twp$ktw$ymj$ij{jqturjsy$

tk$ymj$xmttynsl$xutwy2

52<$ Yt$httwinsfyj$HFY$fhyn{nynjx$|nym$NXXK$fhyn{nynjx$fsi$

uwtrtyj$ ymj$ inxxjrnsfynts$ tk$ NXXK$ nsktwrfynts0$

yt$ pjju$Htskjijwfynts$ Rjrgjw$ Kjijwfyntsx$ fsi$

ymjnw$ rjrgjwx$ zuifyji$ tk$ |twqi|nij$ xmttynsl$

xutwyx$fhyn{nynjx2$

62$ Mjfivzfwyjwx

Htskjijwfynts$ mjfivzfwyjwx$ xmfqq$ gj$ ns$ ymj$ htzsyw~$ tk$

ymj$ Uwjxnijsy$ tw$ ns$ f$ qthfynts$ ijhniji$ g~$ ymj$ J}jhzyn{j$

Htrrnyyjj2

72$ Rjrgjwxmnu

725$ Ymj$rjrgjwx$tk$ymj$htskjijwfynts$fwj$ymj$sfyntsfq$

Xmttynsl$ kjijwfyntsx$ tk$ ymj$ Frjwnhfs$ Htsynsjsy$

ymfy$fwj$NXXK$Rjrgjw$Kjijwfyntsx0$fwj$wjhtlsn�ji$

g~$ HFY$ fsi$ fwj$ hzwwjsy$ |nym$ ymjnw$ fsszfq$ HFY$

rjrgjwxmnu$kjj2



#)

726$ F$ Sfyntsfq$ Xmttynsl$ Kjijwfynts$ rzxy$ xzgrny$

fs$ fuuqnhfynts$ ktw$ rjrgjwxmnu$ ymfy$ nshqzijx$

nsktwrfynts$fgtzy$mt|$fsi$|mjs$ny$|fx$ktzsiji0$

f$ htu~$ tk$ nyx$ htsxynyzyntsx$ fsi$ xyfyzyjx$ fsi$ f$

9<HJ@h@97J@ED J?7J @J @I H<9E>D@P<; 8O @JI -7J@ED7B

Tq~runh$Htrrnyyjj2$

727$ \mjs$ymjwj$fwj$y|t$Sfyntsfq$Xmttynsl$Kjijwfyntsx$

ns$tsj$htzsyw~$|nym$jfhm$kjijwfynts$wjuwjxjsynsl$

inkkjwjsy$ inxhnuqnsjx0$ jfhm$ kjijwfynts$ |nqq$ gj$

fhhjuyji$fx$f$HFY$rjrgjw$nk$gtym$kjijwfyntsx$fwj$

NXXK$rjrgjwx2

728$ Rjrgjwx$ hfssty$ gjqtsl$ yt$ tw$ ufwynhnufyj$ ns$

htrujynyntsx$ tk$ htskjijwfyntsx$ tw$ kjijwfyntsx$

tymjw$ymfs$ymj$NXXK0$ymfy$ufywtsn�j$xmttynsl$j{jsyx$

lt{jwsji$g~$ymj$NXXK2

729$ Fsszfq$rjrgjwxmnu$kjjx$fwj$izj$ts$Ofszfw~$5xy$

fsi$xmfqq$gj$ufni$sty$qfyjw$ymfs$;4$if~x$fkyjw$ymnx$

ifyj2

72;$ \mjs$ymjwj$fwj$y|t$HFY$Rjrgjw$Kjijwfyntsx$ns$

tsj$htzsyw~0$ymj$rjrgjwxmnu$kjj$|nqq$gj$in{niji$

g~$y|t2

aZe " C<C8<H M@J?EKJ IK=h@9@<DJ h@D7D9@7B H<IEKH9<I

rf~$ fuuq~$ yt$ ymj$ j}jhzyn{j$ htrrnyyjj$ ktw$ f$

rjrgjwxmnu$kjj$wjizhynts2$

72=$ F$rjrgjw$|nqq$gj$j}hqziji$kwtr$ymj$HFY$ktw$sty$

uf~nsl$ rjrgjwxmnu$ kjjx$ ktw$ y|t$ htsxjhzyn{j$

~jfwx2

72>$ F$ Rjrgjw$ Kjijwfynts$ rf~$ gj$ xzxujsiji$ tw$

j}ujqqji$ g~$ ymj$Ljsjwfq$Fxxjrgq~$ nk$ ijyjwrnsjx$$

fs$ fhynts$ htsywfw~$ yt$ ymj$ HFY$Htsxynyzynts0$ HFY$

'<D<H7B 1<>KB7J@EDI EH J?< )22& .=h@9@7B 2J7JKJ<I

Wzqjx$fsi$Wjlzqfyntsx2$
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7254$ Ymj$J}jhzyn{j$Htrrnyyjj$rf~$xzxujsi$f$rjrgjw$

nk$ymj$Htrrnyyjj$ijyjwrnsjx$ymfy$HFY$hfs$gjyyjw$

=KBh@BB @JI FKHFEI<I 8O IKIF<D;@D> J?< C<C8<HZ

7255$ Ymj$ Ljsjwfq$ Fxxjrgq~$ rf~$ lwfsy$ fs$ mtstwfw~$

rjrgjwxmnu$yt$fs$nsin{nizfq2$Ymnx$nx$ymj$mnlmjxy$

mtstw$ ymj$ HFY$ rf~$ f|fwi2$ Ymj$ mtstw$ rzxy$ gj$

uwtutxji$ g~$ f$ rjrgjw$ fsi$ fuuwt{ji$ g~$ ymj$

Ljsjwfq$Fxxjrgq~2$

82$ Twlfsn�fynts$fsi$Firnsnxywfynts

Ymj$ Frjwnhfs$ Xmttynsl$ Htskjijwfynts$ ,HFY-$ htsizhyx$ nyx$

|twp$ymwtzlm?

" Ymj$Ljsjwfq$Fxxjrgq~

" Ymj$J}jhzyn{j$Htrrnyyjj

" .=h@9<HI

" Ymj$Yjhmsnhfq$Inwjhytwfyj

" Htrrnxxntsx

825$ Ymj$Ljsjwfq$Fxxjrgq~

82525$ Ymj$ Ljsjwfq$ Fxxjrgq~$ nx$ ymj$ xzuwjrj$

lt{jwsnsl$gti~$tk$ymj$htskjijwfynts2

82526$ Ymj$ Ljsjwfq$ Fxxjrgq~$ nx$ ktwrji$ |nym$

ijqjlfyjx$ wjuwjxjsynsl$ HFY$ Rjrgjw$

Kjijwfyntsx2$

82527$ Ymj$ Twinsfw~$ Ljsjwfq$ Fxxjrgq~$ rjjyx$

j{jw~$ y|t$ ~jfwx$ fy$ ymj$ ynrj$ fsi$ uqfhj$

ijhniji$ fy$ ymj$ qfxy$ Ljsjwfq$ Fxxjrgq~$

fsi3tw$ |nqq$ gj$ twlfsn�ji$ ts$ thhfxnts$ tk$

ymj$ hjqjgwfynts$ tk$ f$rfotw$ htsynsjsyfq$ tw$

wjlntsfq$xutwyx$j{jsy$fx$ijyjwrnsji$g~$ymj$

J}jhzyn{j$Htrrnyyjj2$

82528$ Fs$ J}ywftwinsfw~$ Ljsjwfq$ Fxxjrgq~$ rf~$

gj$ hts{jsji$ fy$ fstymjw$ ynrj$ fsi$ uqfhj$
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g~$ ymj$ hfqq$ tk$ ymj$ Uwjxnijsy$ fsi$|nym$ ymj$

fuuwt{fq$tk$ymj$J}jhzyn{j$Htrrnyyjj0$tw$g~$

ymj$|wnyyjs$wjvzjxy$tk$fy$qjfxy$mfqk$uqzx$tsj$

tk$ $ HFY$ Rjrgjw$ Kjijwfyntsx2$ F$ |wnyyjs$

wjvzjxy$ ktw$ fs$ J}ywftwinsfw~$ Ljsjwfq$

Fxxjrgq~$rzxy$uwt{nij$f${fqni$wjfxts$ktw$

hts{jsnsl$ ymj$ fxxjrgq~$ fsi$ ymj$ fljsif$

ktw$ymj$rjjynsl2

82529$ Jfhm$ Rjrgjw$ Kjijwfynts$ rf~$ mf{j$ tsj$

tw$ y|t$ ijqjlfyjx$ fsi$ y|t$ {tyjx$ ns$ ymj$

Ljsjwfq$ Fxxjrgq~2$ \mjs$ ymjwj$ fwj$ y|t$

HFY$ Rjrgjw$ Kjijwfyntsx$ wjuwjxjsynsl$

inkkjwjsy$ xmttynsl$ inxhnuqnsjx$ ns$ tsj$

htzsyw~0$ jfhm$ kjijwfynts$ rf~$ mf{j$ tsq~$

tsj$ijqjlfyj$fsi$tsj${tyj$ ns$ ymj$Ljsjwfq$

Fxxjrgq~2

8252;$ F$vztwzr$ktw$ymj$Ljsjwfq$Fxxjrgq~$nx$mfqk$

uqzx$tsj$tk$ymj$Rjrgjw$Kjijwfyntsx2

8252<$ Nk$ tsj$ Rjrgjw$ Kjijwfynts$ hfssty$ fyyjsi$

f$ljsjwfq$fxxjrgq~0$ny$rf~$gj$wjuwjxjsyji$

ymwtzlm$ymj$ijqjlfyj,x-$tk$fstymjw$Rjrgjw$

Kjijwfynts$g~$uwt{ninsl$f$|wnyyjs$uwt}~$yt$

ymfy$kjijwfynts$xnlsji$g~$ymj$Uwjxnijsy$tw$

Xjhwjyfw~$Ljsjwfq$tk$ymj$kjijwfynts$nxxznsl$

ymj$ uwt}~2$ F$Rjrgjw$ Kjijwfynts$rf~$ fhy$

fx$ f$ uwt}~$ kwtr$ tsq~$ tsj$ tymjw$ Rjrgjw$

Kjijwfynts2$

8252=$ Ymj$Ljsjwfq$Fxxjrgq~$rf~$tsq~$ijfq$|nym$

nyjrx$nshqziji$ts$ymj$fljsif2$

8252>$ Fs~$ Rjrgjw$ Kjijwfynts$ ymfy$ |nxmjx$ yt$

nshqzij$fs~$nyjr$ts$ymj$fljsif$nshqzinsl$

strnsfyntsx$ktw$jqjhyji$utxnyntsx$rzxy$gj$

xzgrnyyji$yt$ymj$HFY$Xjhwjyfw~$Ljsjwfq$fy$
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qjfxy$>4$if~x$gjktwj$ymj$ifyj$tk$ymj$Ljsjwfq$

Fxxjrgq~2

825254$ Ymj$ Xjhwjyfw~$ Ljsjwfq$ |nqq$ nxxzj$ ymj$

rjjynsl$ uqfhj0$ ifyj0$ ynrj$ fsi$ fljsif$ yt$

fqq$ rjrgjw$ kjijwfyntsx$ ;4$ if~x$ uwntw$ yt$

fs~$ izq~$ hfqqji$ rjjynsl$ tk$ ymj$ Ljsjwfq$

Fxxjrgq~$tw$J}jhzyn{j$Htrrnyyjj2

825255$ Ymj$ Ljsjwfq$ Fxxjrgq~$ nx$ hmfnwji$ g~$ ymj$

Uwjxnijsy0$ tw$ ns$ mnx$ fgxjshj0$ g~$ f$ [nhj$

Uwjxnijsy0$ uwj{ntzxq~$ fuutnsyji$ g~$ ymj$

Uwjxnijsy2

825256$ Ymj${tyj$ktw$fs~$nyjr$|nqq$gj$tujs0$j}hjuy$

ktw$ ymj$ jqjhynts$ tk$ J}jhzyn{j$ Htrrnyyjj$

rjrgjwx0$ |mnhm$ |nqq$ gj$ htsizhyji$ g~$

xjhwjy$ gfqqty2$ Mt|j{jw0$ ns$ hfxjx$ |mjwj$

ymjwj$nx$tsq~$tsj$hfsinifyj0$ymj$hfsinifyj$

rf~$gj$jqjhyji$zsfsnrtzxq~$g~$fuuqfzxj2

825257$ Ymjwj$|nqq$gj$tsj$jqjhynts$ktw$jfhm$tk$ymj$

utxnyntsx$ts$ymj$J}jhzyn{j$Htrrnyyjj2$Ymj$

ujwxts$|nym$ymj$rtxy${tyjx$|nqq$gj$jqjhyji2$

Fs~$ynj$|nqq$gj$ijhniji$g~$ymj${tyj$tk$ymj$

Uwjxnijsy2

825258$ Fqq$ HFY$ jqjhyji$ utxnyntsx$ fwj$ ktw$ f$ ktzw1

~jfw$yjwr2$Nshzrgjsyx$rf~$wzs$ktw$fsi$gj$

jqjhyji$ ktw$ f$rf}nrzr$tk$ y|t$ fiinyntsfq$

yjwrx$ns$ymj$xfrj$utxnynts2$Ymjwjktwj$ymj$

rf}nrzr$yjwr$f$ujwxts$hfs$xjw{j$ns$fs~$

tsj$utxnynts$nx$56$~jfwx2

825259$ Ymj$kzshyntsx$tk$ymj$Ljsjwfq$Fxxjrgq~?

82525925$ Jqjhy$ ymj$ Uwjxnijsy0$ Knwxy0$ Xjhtsi$ fsi$

Ymnwi$ [nhj$ Uwjxnijsy0$ Xjhwjyfw~$ Ljsjwfq0$

Yjhmsnhfq$ Inwjhytw0$ rjrgjwx$ tk$ ymj$

J}jhzyn{j$ Htrrnyyjj$ fsi$ mtstwfw~$
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rjrgjwx2$ Fqq$ fwj$ jqjhyji$ ktw$ yjwrx$ tk$

ktzw$~jfwx$fsi$rf~$gj$ hfsinifyjx$ ktw$ wj1

jqjhynts$ ktw$ fstymjw$ y|t$ yjwrx0$ j}hjuy$

mtstwfw~$ rjrgjwx$ |mt$ fwj$ jqjhyji$ ktw$

qnkj2$

82525926$ Jqjhy$ yjrutwfw~$ htrrnxxntsx$ fsi$ fs$

fzinytw$fx$rf~$gj$wjvznwji2

82525927$ J}frnsj$ fsi$ fuuwt{j$ ymj$ wjutwy$ tk$ ymj$

Uwjxnijsy$ fsi$ fs~$ tymjw$ wjutwyx0$ fx$

wjvznwji2

82525928$ $ Fituy$ ljsjwfq$ wjlzqfyntsx$ yt$ lt{jws$ ymj$

xjqjhynts$tk$mtxy$htzsywnjx$ktw$htsynsjsyfq$

hmfruntsxmnux$ fsi$ ymj$ twlfsn�fynts$ tk$

ymjxj$htrujynyntsx2

82525929$ Fuutnsy$ ymj$mtxy$ htzsyw~$ yt$twlfsn�j$ ymj$

Xmttynsl$ Hmfruntsxmnu$ tk$ ymj$ Frjwnhfx$

ymfy$|nqq$gj$mjqi$|nymns$ymj$sj}y$ktzw$~jfwx2

8252592;$ Xyzi~$fsi$ijhnij$uwtutxfqx$xzgrnyyji$g~$

rjrgjwx2

8252592<$ Fuuwt{j$ fuuqnhfyntsx$ ktw$ rjrgjwxmnu$

uwt{nxntsfqq~$ firnyyji$ g~$ ymj$ J}jhzyn{j$

Htrrnyyjj2

8252592=$ Xzxujsi$ fs~$ rjrgjw$ kjijwfyntsx$ ktw$ fs$

fhynts$htsywfw~$yt$ymj$HFY$Htsxynyzynts$tw$

Ljsjwfq$Wjlzqfyntsx2

8252592>$ Ijyjwrnsj$fsszfq$rjrgjwxmnu$kjjx2

825259254$ Htsxnijw$fsi$fuuwt{j$fqq$ frjsirjsyx$ yt$

ymj$Htsxynyzynts2

825259255$ Inxxtq{j$ymj$Htskjijwfynts2

826$ Ymj$J}jhzyn{j$Htrrnyyjj

82625$ Ymj$J}jhzyn{j$Htrrnyyjj$nx$wjxutsxngqj$ktw$



$$

;@H<9J@D> J?< 7;C@D@IJH7J@L< 7D; h@D7D9@7B

fkkfnwx$tk$ymj$Htskjijwfynts2$

82626$ Ymj$ J}jhzyn{j$ Htrrnyyjj$ nshqzijx$ ymj$

ktqqt|nsl$ujwxtsx?

8262625$ Ymj$Uwjxnijsy2

8262626$ Ymj$ Knwxy0$ Xjhtsi$ fsi$ Ymnwi$ [nhj$

Uwjxnijsyx2

8262627$ Ymj$Xjhwjyfw~$Ljsjwfq2

8262628$ Ymj$Yjhmsnhfq$Inwjhytw2

8262629$ Kn{j$rjrgjwx2

826262;$ Fs$Fymqjyj$Wjuwjxjsyfyn{j2

82627$ Ymj$kzshyntsx$tk$ymj$J}jhzyn{j$Htrrnyyjj$

fwj?

8262725$ Yt$ hfww~$tzy$ ymj$ijhnxntsx$tk$ ymj$Ljsjwfq$

Fxxjrgq~2

8262726$ Yt$twlfsn�j$ ymj$ nsyjwsfq$|twp$tk$ ymj$HFY$

Htskjijwfynts2

8262727$ Yt$ j}frnsj$ uwtutxfqx$ xzgrnyyji$ g~$

Rjrgjw$ Kjijwfyntsx$ fsi$ yt$ rfpj$

wjhtrrjsifyntsx$ htshjwsnsl$ ymtxj$

uwtutxfqx$yt$ymj$Ljsjwfq$Fxxjrgq~2

8262728$ Yt$htsxnijw$fs~$nyjr$tk$nsyjwjxy$yt$Rjrgjw$

Kjijwfyntsx$ tw$ yt$ ymj$ Htskjijwfynts$ ymfy$

itjx$sty$wjvznwj$f$ijhnxnts$g~$ymj$Ljsjwfq$

Fxxjrgq~2

8262729$ Yt$ firny$ sj|$ Rjrgjw$ Kjijwfyntsx$ ns$ f$

uwt{nxntsfq$xyfyzx$uwntw$yt$uwjxjsynsl$ymjr$

JE J?< '<D<H7B "II<C8BO =EH h@D7B 7FFHEL7BZ

826272;$ Yt$ijhnij$ymj$qthfynts$tk$ymj$mjfivzfwyjwx$

tk$ymj$HFY$htskjijwfynts2
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826272<$ Yt$ rfnsyfns$ Htskjijwfynts$ htsynszny~0$

ny$ nx$ mnlmq~$ ijxnwji$ ymfy$ ymj$ J}jhzyn{j$

Htrrnyyjj$ |nqq$ rjjy$ fsszfqq~$ fy$ f$ uqfhj$

fsi$ifyj$ijyjwrnsji$g~$ymj$Uwjxnijsy2

bZa 3?< .=h@9<HI

82725$ Ymj$kzshyntsx$tk$ymj$Uwjxnijsy$fwj?

8272525$ Yt$Uwt{nij$HFY$|nym$xzhhjxxkzq$qjfijwxmnu$

fsi$ inwjhynts$ fxxzwnsl$ ymj$ gfqfshji$

uwtrtynts$tk$fqq$xmttynsl$xutwyx$inxhnuqnsjx$

fsi$ nsyjwjxyx$ |nymns$ ymj$ xmttynsl$ xutwy0$

|mnqj$tgxjw{nsl$ymj$ywfinyntsx$tk$ymj$xutwy$

fsi$nyx$wjvznwjrjsyx$ktw$ij{jqturjsy2

8272526$ Yt$ hts{jsj$fsi$uwjxnij$t{jw$ ymj$Ljsjwfq$

Fxxjrgq~2

8272527$ Yt$ uwjxnij$ fy$ rjjynslx$ tk$ ymj$ J}jhzyn{j$

Htrrnyyjj2

8272528$ Yt$xzujw{nxj$ymj$j}jhzynts$tk$ymj$ijhnxntsx$

tk$ymj$Ljsjwfq$Fxxjrgq~2

8272529$ Yt$ xzujw{nxj$ ymj$ fhyn{nynjx$ tk$ ymj$

twlfsn�fyntsx$ fsi$ kzshyntsx$ tk$ HFY$ yt$

jsxzwj$ymfy$ymj$HFY$Htsxynyzynts$fsi$tymjw$

wjlzqfyntsx$fwj$ktqqt|ji2

827252;$ Yt$ jsxzwj$ ymfy$ ymj$ wjxutsxngnqnynjx$ tk$

HFY$ Rjrgjw$ Kjijwfyntsx$ yt$ ymj$ NXXK0$

htsynsjsyfq$ htskjijwfyntsx0$ twlfsn�nsl$

htrrnyyjjx$ fsi$sfyntsfq$ tw$ nsyjwsfyntsfq$

IFEHJ EH>7D@P7J@EDI 7H< =KBh@BB<;Z

827252<$ Yt$wjuwjxjsy$HFY$ns$qjlfq$rfyyjwx2

827252=$ Yt$ fhy$ ts$ gjmfqk$ tk0$ tw$ wjuwjxjsy$ HFY$ ts$

tymjw$thhfxntsx0$fx$wjvznwji2

827252>$ Yt$ fhy$ ns$ zwljsy$ hfxjx$ ns$ rfyyjwx$ sty$
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nshqziji$ ns$ ymj$ HFY$ Htsxynyzynts$ tw$

wjlzqfyntsx2$Xzhm$fhyntsx0$mt|j{jw0$wjvznwj$

xzgxjvzjsy$ fuuwt{fq$ g~$ ymj$ J}jhzyn{j$

Htrrnyyjj2

82726$ Ymj$ kzshyntsx$ tk$ ymj$ Knwxy$ [nhj$ Uwjxnijsy$

fwj?

8272625$ Yt$hts{jsj$fsi$uwjxnij$t{jw$HFY$rjjynslx$

ns$ ymj$ fgxjshj$ tk$ ymj$ Uwjxnijsy$ zuts$ mnx$

wjvzjxy2$

8272626$ Ns$hfxj$tk$f$Uwjxnijsy�x$wjxnlsfynts0$wjuqfhj$

mnr$zsynq$ymj$jsi$tk$ymj$yjwr2

82727$ Ymj$kzshyntsx$tk$ymj$[nhj$Uwjxnijsyx$fwj?

8272725$ $ Yt$ xzuutwy$ fsi$ fxxnxy$ ymj$ Uwjxnijsy$ ns$

htsizhynsl$ymj$fkkfnwx$tk$HFY2

8272726$ Yt$fhy$fx$f$wjuwjxjsyfyn{j$tk$ymj$Uwjxnijsy$

|mjs$wjvzjxyji$yt$it$xt$g~$ymj$Uwjxnijsy2

8272727$ Yt$ hfww~$ tzy$ yfxpx$ fxxnlsji$ g~$ ymj$

J}jhzyn{j$ Htrrnyyjj$ tw$ ts$ wjvzjxy$ kwtr$

ymj$Uwjxnijsy2

8272728$ Yt$ ujwktwr$ xujhnfq$ wjxutsxngnqnynjx$ tw$

yt$ fxxnxy$ fsi$ xzujw{nxj$ ymj$ htsizhy$ tk$
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8272827$ Yt$htrrzsnhfyj$|nym$Rjrgjw$Kjijwfyntsx$

wjlfwinsl$rfyyjwx$tk$nsyjwjxy$yt$ymjr2

8272828$ Yt$ uwjufwj$ wjutwyx$ htshjwsnsl$ ymj$

fhyn{nynjx$tk$HFY2

8272829$ Yt$jxyfgqnxm$fsi$xzujw{nxj$ymj$htsizhy$tk$

HFY$firnsnxywfyn{j$uwthjizwjx2

827282;$ Yt$wjhjn{j0$uwt{nij$hzxyti~$tk$fsi$inxgzwxj$
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g~$ymj$Ljsjwfq$Fxxjrgq~2
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wjutwyx$ yt$ ymj$ Ljsjwfq$ Fxxjrgq~$ fsi$

J}jhzyn{j$Htrrnyyjj$wjlfwinsl$ymj$wjhjnuy$

fsi$inxgzwxfq$tk$HFY$kzsix2

827282=$ Yt$uwt{nij$htruqjyj0$ywzymkzq$fsi$hzwwjsy$
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ymj$ xhmjizqji$ Ljsjwfq$ Fxxjrgq~$ ns$ ymj$

ijxnlsfyji$~jfw$tk$jqjhyntsx2

82728254$ Yt$ xtqnhny$ fuuqnhfyntsx$ yt$ mtxy$ ymj$

Hmfruntsxmnu$ tk$ ymj$ Frjwnhfx$ >4$ if~x$

gjktwj$ ymj$ Ljsjwfq$ Fxxjrgq~$ mjqi$ fy$ ymj$
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xmttynsl$ hmfruntsxmnux$ fsi$ xjqjhynts$

htrujynyntsx$ktw$ymj$Frjwnhfx$xzhm$fx$ymj$
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Ljsjwfq$Fxxjrgq~2

8282526$ Kn{j$ ujwxtsx$ fuutnsyji$ g~$ ymj$ J}jhzyn{j$

Htrrnyyjj$ wjuwjxjsynsl$ j}ujwynxj$ ns$ ,5-$

1@hB<Y \`] /@IJEBY \a] 2?EJ>KDY \b] *K;><IY

,9-$fs$Fymqjyjx$Wjuwjxjsyfyn{j2$

82826$ Ymj$kzshyntsx$tk$ymj$Yjhmsnhfq$Inwjhytwfyj$

fwj?

8282625$ Yt$ rfnsyfns$ htrrzsnhfynts$ fsi$
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xmttynsl$htrujynyntsx2
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Kjijwfynts0$ yt$ tkkjw$ yjhmsnhfq$ fi{nhj$ ktw$

ymj$twlfsn�fynts$tk$f$xmttynsl$j{jsy$tw$yt$

wjxtq{j$ f$ vzjxynts$ tw$ inxuzyj$ htshjwsnsl$

ymj$ nsyjwuwjyfynts$ tk$ NXXK$ wjlzqfyntsx$

ns$ htrujynyntsx$ $ twlfsn�ji$ fy$ ymj$ qthfq0$

wjlntsfq0$ sfyntsfq$ tw$ nsyjwsfyntsfq$ qj{jq$

|nymns$ymj$Frjwnhfs$Htsynsjsy2

8282628$ Yt$j}frnsj$yjhmsnhfq$uwtutxfqx$xzgrnyyji$

g~$ ymj$ Rjrgjw$ Kjijwfyntsx$ fsi$

htrujynynts$Twlfsn�nsl$Htrrnyyjjx2
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htzwxjx$$$$$$$$$$$$$fsi$yt$xzuutwy$ymj$fuuqnhfyntsx$

ktw$NXXK$ozilj�x$fsi$wjkjwjj$qnhjsxjx$kwtr$

nsin{nizfqx$ {nf$ Rjrgjw$ Kjijwfyntsx$ ns$

ymj$ Frjwnhfs$ Htsynsjsy$ |mtxj$ |twp$
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Wjlzqfyntsx$ymj$Xufsnxm$qfslzflj${jwxnts$|nqq$uwj{fnq2
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Kjijwfyntsx0$fsi$xmfqq$gj$fuuwt{ji$g~$ymj$Ljsjwfq$Fxxjrgq~$

g~$ f$ {tyj$ tk$ ymwjj1ktzwymx$ tk$ ymj$ ijqjlfyjx$ uwjxjsy$ ns$ ymj$

Fxxjrgq~2$Ymj$uwtutxfq$rzxy$gj$xzgrnyyji$yt$ymj$J}jhzyn{j$

Htrrnyyjj$ xn}$ rtsymx$ uwntw$ yt$ ymj$ ifyj$ tk$ ymj$ Ljsjwfq$

Fxxjrgq~2$ $ Ns$ hfxj$ tk$ inxxtqzynts0$ fs~$ wjrfnsnsl$ kzsix$ tw$

ijgyx$xmfqq$gj$in{niji$frtsl$HFY$Rjrgjw$Kjijwfyntsx2

=2$ Ymj$ Htsxynyzynts$ tk$ ymj$ Xmttynsl$ Htskjijwfynts$ tk$ ymj$

Frjwnhfx$,HFY-$|fx$xyzinji$fsi$zsfsnrtzxq~$fuuwt{ji$g~$

fqq$ymj$kjijwfyntsx$uwjxjsy$fy$ymj$twinsfw~$Ljsjwfq$Fxxjrgq~$

ts$St{jrgjw$6si$645=$fy$Lzfifqfofwf0$Rj}nht$fsi$|fx$uzy$ns$

ktwhj$ts$ymfy$xfrj$if~2
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$LJSJWFQ$WJLZQFYNTSX

TK$YMJ$

HTSKJIJWFHNTS$FRJWNHFSF$IJ$YNWT$
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52$ J{jw~$ ~jfw$ ymj$ Htskjijwfhnts$ Frjwnhfsf$ Ij$ Ynwt$

,Htskjijwfynts-$|nqq$jxyfgqnxm$ymj$uwtlwfr$tk$htrujynyntsx$

mtxyji$g~$fsi$ns{tq{nsl$HFY$Rjrgjw$Kjijwfyntsx2$Rjrgjw$

Kjijwfyntsx$ijxnwnsl$yt$mtxy$htrujynyntsx$rzxy$ nsktwr$ymj$

Uwjxnijsy$ns$|wnynsl$htshjwsnsl$ymj$htzsyw~0$uqfhj0$ifyjx$fsi$
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kjijwfyntsx$rzxy$xzgrny$ymnx$nsktwrfynts$gjktwj$ymj$jsi$tk$

St{jrgjw$tk$ ymj$uwj{ntzx$~jfw2$Htrujynyntsx$sty$ nshqziji$

ns$ymj$fsszfq$uwtlwfr$uwjufwji$g~$ymj$Htskjijwfynts0$|nqq$

gj$nshqziji$nk$ymj~$fuuq~$yt$ymj$J}jhzyn{j$Htrrnyyjj$ns$izj$

ynrj2

62$ J{jw~$nsyjw1Frjwnhfs$htrujynynts$xmfqq$gj$xzujw{nxji$g~$ymj$

Htskjijwfynts0$ fsi$rzxy$ ktqqt|0$ fx$ hqtxjq~$ fx$ utxxngqj0$ ymj$

lznijqnsjx$ tk$ ymj$ Nsyjwsfyntsfq$ Xmttynsl$ Xutwy$ Kjijwfynts$

,NXXK-$ nyx$Htsxynyzynts$fsi$Xyfyzyjx$Wzqjx$fsi$Wjlzqfyntsx0$

HFY$ Wjlzqfyntsx$ fx$ |jqq$ fx$ ymj$ Tq~runh$ Hmfwyjw$ fsi$ ymj$

\twqi$Fsyn1Itunsl$Fljsh~$,\FIF-2$Ymj$htrujynynts$xmtzqi$

gj$ twlfsn�ji$ ns$ htqqfgtwfynts$ |nym$ f$ Yjhmsnhfq$ Ijqjlfyj$

wjuwjxjsynsl$ymj$NXXK$fsi$HFY2$

72$ Ktw$ j{jw~$ HFY$ ns{nyfyntsfq$ htrujynynts0$ ymj$ fxxthnfynts$ tw$

kjijwfynts$ tk$ ymj$ mtxy$ htzsyw~$ xmfqq$ htrrzsnhfyj$ yt$ ymj$

Rjrgjw$Kjijwfyntsx$htshjwsnsl$ymj$inxhnuqnsjx$fsi$j{jsyx$

nshqziji$ns$ymj$htrujynynts$|nym$ymj$szrgjw$tk$ufwynhnufsyx$

yt$ gj$ wjlnxyjwji$ g~$ j{jsy2$ Hfs$ fqxt$ wjvzjxy$ yt$ ymj$ HFY$

J}jhzyn{j$ Htrrnyyjj0$ fuuwt{j$ ymj$ ufwynhnufynts$ tk$ lzjxy$

kjijwfyntsx$kwtr$fxxthnfyji$STHx$fy$TIJHFGJ0$TIJXZW$tw$
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ymj$ ij{jqturjsy$ $ tk$ ymj$ xmttynsl$ xutwy$ ns$ ymnx$ htzsywnjx2$

Mt|j{jw$ nk$ ns{nyji0$ ymtxj$ lzjxy$ kjijwfyntsx$ hfs�y$ inxuzyj$

Ufsfr$tw$Tq~runh$vztyfx2
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ns$nyx$htrujynyntsx$fwj$Xufsnxm$fsi$Jslqnxm2

92$ Ymj$Htskjijwfynts$xmfqq$uwtrtyj$ymj$twlfsn�fynts$tk$ozsntw$

uwtlwfrx$ ns$ fs$ jkktwy$ yt$ xzuutwy$ ymj$ ij{jqturjsy$ tk$ f$

sj|$ ljsjwfynts$ tk$ xmttyjwx2$ Ymj$ Htskjijwfynts$ xmfqq$ fqxt$

uwtrtyj$ ymj$ nshqzxnts$ fsi$ j}ufsxnts$ tk$ |trjs$ j{jsyx$ ns$
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<2$ Ymj$ Htskjijwfynts$ mfx$ ymj$ xtqj$ wnlmy$ yt$ wjhtlsn�j$ wjhtwix$

ns$ymj$Frjwnhfs$Xmttynsl$Htskjijwfynts2$Yt$wjhtlsn�j$xzhm$

wjhtwix0$ny$nx$wjvznwji?

<25$ Ymfy$ ymj$ wjhtwix$ gj$ jxyfgqnxmji$ |nymns$

htrujynyntsx$ ns$ ymj$ Frjwnhfx$ fsi$ twlfsn�ji$ g~$
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inxhnuqnsj$ ns$ |mnhm$ ymj$ wjhtwi$ nx$ jxyfgqnxmji$ ns$

ymjxj$htrujynyntsx2

<27$ Ymfy$ ymj$ htrujynyntsx$ gj$ fzymtwn�ji$ fsi$

xzujw{nxji$g~$HFY2

<28$ Ymfy$ ymj$ kfhnqnynjx$ |mjwj$ ymj$ htrujynyntsx$ fwj$

mjqi$gj$nsxujhyji$fsi$uwj{ntzxq~$fuuwt{ji$g~$ymj$

fuutnsyji$HFY$Yjhmsnhfq$Ijqjlfyj$fsi$ ymfy$ ymj~$

htruq~$|nym$ymj$rnsnrfq$htsinyntsx$wjvznwji$g~$

ymj$NXXK$Wjlzqfyntsx2

<29$ Ymfy$ NXXK$wjlzqfyntsx$gj$xywnhyq~$ktqqt|ji0$ ns$ymj$

twlfsn�fynts$tk$ymj$htrujynynts2$
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